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1) ROFEIFEXAZMBETHRELGS, (ARX58)

D {x—y=—3
x+y=1
2) { x—3y=1
4x—2y=24
3) {—x+y=—7
4x+3y=14
4 { 5x+2y=26
—2x+y=-5

5) { 6x+y=21
2x+2y=12
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2) ROEIFBRXEMBETHREESL, (4R X58)

1 { x+2y=8
X—y=—1

2) { 3x—by=22
Bx+y=18

3) { 6x—3y=—39
—4x+y=25

4 { x+3y=5
—3x—y=—15

5) { x+4y=3
5x—3y=38
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3) ROFEILFEAEZRAETRELGSL,. (4R X58)

1) { y=x-2
x+y=0
2) { 8x+y=—31
y=x+5
3) {9x—4y=—38
4y=2x—4
4 {y=x+2
y=3x—4

5) { 2x—by=-—15
2x=y+5
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4) ROEIFBRAERAZTHRERSL, (4R X58)

1 { 4x—5y=5
2x=2y+4

2) { x+2y=1
x=2y—7

3) { 2x+4y=—6
y=x—15

4 { x+6y=-2
2y=x—14

5) { x=y+14
x=—2y—4
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5) ROFIAFEXZMEGSL,. (4R X58)

H { 4(x+2y)—(x+3y)=—17
(83x+2y)—(2x—by)=5

4x+8y=15
2) 3
X—y= Z
3) { —(x+y)—2(2x—y)=-30
3(x+y)+2(x—y)=40
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1) RE—#% (4R x5%8) A =]
1) x=—1,y=2 2) x=7,y=2 3) x=5,y=-2
4) x=4, y=3 5) x=3, y=3

2) KE—RE (AR X58) A =]

1) x=2, y=3 2) x=4,y=-2 3) x=—6, y=1
4) x=5, y=0 5) x=7,y=-—1

3) KEE—MRE (4= X58) A H
1) x=1,y=—-1 2) x=—4,y=1 3) x=—6,y=—4
4) x=3, y=5 5) x=5, y=5

4) KE—RE (45 X58) A =]
1) x=5, y=3 2) x=-3,y=2 3) x=9, y=—6
4) x=10,y=—2 5) x=8,y=—6

5) &IE—ME (4R Xx5H) A B

1) x==9,y=2  2) x=%,y=> 3) x=7,y=5

4) x=0, y=-5 5) x=2, y=6



